Chapter 3 – In Class Group Problems

1. Use the following information to answer all parts:
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A. Compute private savings, public savings, and national savings.

B. Find the equilibrium interest rate and graph the loanable funds market, be sure to label axis AND give the values for the intercepts:

2. Using the same initial values, now suppose that G rises to 1250. 

A. What do we expect to happen to S and I (use your intuition)?

B. Compute Sp, Sg and national savings with the new level of G.

C. Find the new equilibrium interest rate and show graphically the loanable funds market, be sure to include axis labels AND values:

3. Using the same initial values (shown in problem 1), now suppose that T decreases by 300. 

A. What do we expect to happen to S and I (use your intuition) and by how much??

B. Find the new equilibrium interest rate and show graphically the loanable funds market, be sure to include axis labels AND values:
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